
SAP ABAP table /BEV1/LAPOSI_S {Loading Agenda: Position}

_BEV1_LAPOSI_S

WERKS [CHAR (4)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

LPLTZ [CHAR (2)]

KUNNR [CHAR (10)]

AUFNR [CHAR (10)]

LIENR [CHAR (10)]

_BEV1_LATLPLTZ

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

LPLTZ [CHAR (2)]

 /BEV1/LAPOSI_S-LPLTZ = /BEV1/LATLPLTZ-LPLTZ 
{0,1}

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /BEV1/LAPOSI_S-KUNNR = KNA1-KUNNR 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]
 /BEV1/LAPOSI_S-WERKS = T001W-WERKS 0..N

1

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 /BEV1/LAPOSI_S-LSTEL = TVLA-LSTEL 
0..N1

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 /BEV1/LAPOSI_S-VSTEL = TVST-VSTEL 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 /BEV1/LAPOSI_S-AUFNR = VBUK-VBELN 

0..N

0..N

 /BEV1/LAPOSI_S-LIENR = VBUK-VBELN 

0..N

0..N


